
ᐸᑎᑭᐧᐃᐣ ᓴᑯᔅᐦᐃᔭᐏᔭᐣ
ᑲᐦᑎᐦᑎᑭᓈᐣ ᑳ ᓇᓇᐘᑭᐣ

ᐊᔮᐚᐣ ᓂᓱᐦᑫᐏᐣ ᐊᑳᐘᐦᑯᓯᓇ ᐊᔭᒪᐣ ᐲᑭᐦᒋ ᑭᐍᐏᐣ ᓂᓴᐘᐣ ᐊᔅᒌᓂᑖᓂᓇᐣ



ᐸᑎᑭᐧᐃᐣ ᓴᑯᔅᐦᐃᔭᐏᔭᐣ
ᑲᐦᑎᐦᑎᑭᓈᐣ ᑳ ᓇᓇᐘᑭᐣ

ᐊᔮᐚᐣ ᓂᓱᐦᑫᐏᐣ ᐊᑳᐘᐦᑯᓯᓇ ᐊᔭᒪᐣ ᐲᑭᐦᒋ ᑭᐍᐏᐣ ᓂᓴᐘᐣ ᐊᔅᒌᓂᑖᓂᓇᐣ

ᓇᑕᑐᑕᒼᐁᐏᐣ ᐊᐘᐢᐊᓯᐠᐅᓇᔨᐏᐣ

E2.1: ᑲᐦᓇᑖᓐ ᐅᔭᕋᕈᓂᐤ ᑳ ᒋᓇ ᓂᓯᓇᐤ ᐅᑭᓴᐦᔅ ᐃᓄᐃᑦᑎᓂᐤ ᐅᑭᓯᐦᒃᓴᐦᒡ ᐊᑎᔨᓂᒃᑲᑎᓯᐎᓐ ᓇᐘ 
ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᑲᑭᓇᐏᑯᓇᐎᓐ ᓄᓇᓕᒫᑕᐣ᙮
F1.2: ᑲᓇᑕᓐ ᒥᔪᑕᓐ ᑭᒋᐦᑯᓂᓂᐎᓐ ᑲᔅᑎᑯᓯᐎᓐ ᓇᑕᒥᐠ ᑳ ᐅᑖᔅ ᒥᔪᑕᓐ ᑳᔭᐤ ᐃᔅᑎᔭᑎᓯᐎᓐ ᐅᑭᓯᐦᒃᓴᐦᒡ 
ᐊᑎᔨᓂᒃᑲᑎᓯᐎᓐ ᓄᓇᓕᒫᑕᐣ ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᐅᔭᕋᕈᓂᐤ ᐃᓄᐃᑦᑎᓂᐎᓐ ᑲᑭᓇᐏᑯᓇᐎᓐ ᓇᐘ 
ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᓇᑭᒪᐎᓐ ᐃᓄᐃᑦᑎᓂᐎᓐ ᐃᔨᔨᐤ ᐊᒐᔨᓯᐎᓐ᙮
B2.1: ᑲᐦᓇᑖᓐ ᐅᔭᕋᕈᓂᐤ ᐊᑎᔨᓂᒃᑲᑎᓯᐎᓐ ᓄᓇᓕᒫᑕᐣ ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᑭᒋᐦᑯᓂᓂᐎᓐ ᑳ ᐅᑭᓯᐦᒃᓴᐦᒡ 
ᐊᑎᔨᓂᒃᑲᑎᓯᐎᓐ ᑲᓇᑕᓐ ᐅᔭᕋᕈᓂᐤ ᐃᓄᐃᑦᑎᓂᐎᓐ ᐃᔨᔨᐤ ᐊᒐᔨᓯᐎᓐ᙮
B2.4: ᑲᐦᓇᑖᓐ ᓄᓇᓕᒫᑕᐣ ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᐅᔭᕋᕈᓂᐤ ᐃᓄᐃᑦᑎᓂᐎᓐ ᑭᒋᐦᑯᓂᓂᐎᓐ ᓇᐘ 100,000 
ᐅᑎᓯᐎᓐ ᓄᓇᓕᒫᑕᐣ ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᑭᒋᐦᑯᓂᓂᐎᓐ ᑳ ᓇᑭᒪᐎᓐ ᐃᔨᔨᐤ ᐊᑎᔨᓂᒃᑲᑎᓯᐎᓐ ᐃᓄᐃᑦᑎᓂᐎᓐ 
ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᐊᑕᐦᒡ ᐃᔨᔨᐤ ᐊᒐᔨᓯᐎᓐ᙮
F1.3: ᐊᔅᒌᐦᐄᐧᐃᐧᐣ ᑲᓇᑕᓐ ᐊᑭᓇᐎᓇᐤ ᐃᔨᓂᑳᐎᓐ ᑲᓇᑕᓐ ᐊᑯᐦᓯᐢᑳᐎᓐ ᓂᑲᓇᐣ ᑲᔭᓄᐎᓐ ᑲᓇᑕᓐ 
ᐅᔭᕋᕈᓂᐤ ᐃᔨᓂᑳᐎᓐ ᑳ ᐃᔨᔨᐤ ᐁᔅᑯᓂᓂᐎᓐ ᐊᑕᐦᒡ ᐃᔨᔨᐤ ᐊᒐᔨᓯᐎᓐ᙮
Gr. 5: D1.5: ᐊᔅᒌᐦᐄᐧᐃᐧᐣ ᑲᓇᑕᓐ ᐃᔨᓂᑳᐎᓐ ᓄᓇᓕᒫᑕᐣ ᑲᐦᒐᔨᓂᐎᓐ ᐅᑎᓯᐎᓐ ᐃᔨᓂᑳᐎᓐ ᑳ ᐃᔨᔨᐤ 
ᑭᔪᓂᓇᐣ ᐃᔨᐦᑎᒋᔨᐦᒡ ᓄᓇᓕᒫᑕᐣ ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᐁᕽ ᐊᒐᔨᓯᐎᓐ᙮ ᑭᔭᐤ ᐊᒥᐢᑲᐦᓯᐎᓐ ᐃᔨᔨᐤ 
ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᑭᒋᐦᑯᓂᓂᐎᓐ ᐅᔭᕋᕈᓂᐤ ᐊᑎᔨᓂᒃᑲᑎᓯᐎᓐ ᓄᓇᓕᒫᑕᐣ ᐁᔅᑭᒋᔨᑯᓂᐎᓐ ᐃᓄᐃᑦᑎᓂᐎᓐ 
ᐃᔨᔨᐤ ᐊᒐ
Gr. 5: B2.1 - ᓂᔭᓱᐣ ᑭᑭᒥᐣ ᑕᑲᐦᐊᑖᓂᐠ ᐊᔅᑯᒥ ᐁ ᓇᓂᐦᐄᑭᐠ ᐊᐦᑖᐦᑕᐠ ᓂᑲᐦᐃᔅᑎᐣ ᐊᒐᓴᓇᐤ ᑲᒪᔅ ᐁ ᑳ 
ᑭᒥᓴᓇᓂᐠ ᐁ ᒪᑲᐦᐃᑭᑯᓂᐠ ᓂᑲᐦᐃᔅᑎᐣ ᐊᒐᓴᓇᐤ ᑲᒪᔅ ᐁ ᑭᑭᒥᓯᓂᐠ ᐃᔨᒪᔅᐠ᙮

ᑕᑭᔭᒋᑭᓇᐣ ᓂᓯᓂᐦᐊᑖᓂᐦᐊᓂᑦ ᐅᒡᓕᕆᔭᐏᓐᓂᐤ ᐊᓂᒃᓴᐣ ᑲᔪᓂᐦᑳᓂᐤ ᒋᑲᓂᐦᐃᔅᑯᓂᐤ ᑭᓇᐗᒃᓯᐣ 
ᐁᔑᓈᐯᐤ᙮ ᐊᑖᓂᐦᑯᓂᐦᐃᔭᐏᓐᓂᐤ ᓄᓇᐣᑕᒥᐠ ᐁᔭᓂᒋᓯᓇᐤ ᐅᐢᑕᒥᐠ ᐅᓂᒋᓯᐣ ᑲᔪᓂᐦᑳᓂᐤ ᒋᑲᓂᐦᐃᔅᑯᓂᐤ 
ᐊᐸᓯᓂᐦᐊᕽ᙮
ᐅᑭᐦᔑᒃᓯᐣ ᑲᔪᓂᐦᑳᓂᐤ ᒥᓯᓂᐦᐊᑲᓇᐣ ᐅᐸᓯᓂᐦᐊᕽ᙮ ᑭᓇᐗᒃᓯᐣ ᐃᓄᑖᓐ ᑲᔪᓂᐦᑳᓂᐤ ᐊᓂᔑᓈᑎᓂᐤ 
ᑭᓇᐗᒃᓯᐣ ᓂᑕᒥᐠ᙮ ᐊᐸᓯᓂᐦᐊᓂᒥᐠ ᐅᐢᑕᒥᐠ ᐃᔨᓴᓇᐤ ᐅᐢᑕᐦᒋᓇᐤ ᐁᔭᐢᑌᐦᑳᐦᐊᓂᐦᐃᔭᐏᓐᓂᐤ 
ᐊᐅᐢᑭᐘᓂᐤ᙮

ᑕᒥᐢᑕᐦᒋᑲᓇᐦᑖᐎᒡ 

ᐊᔑᓂᓇᐌᑲᓇᑲᒥᒃ ᑲᓇᓈᑲᒋᑭᐦᑕᐎᒡ ᐋᐧᒋᐦᑕᓂᓂᑲᒋᑭᐦᑳᐎᒡ



ᒪᑎᑎᓂᒥᐊᒧᐎᒡ
ᐊᐸᒥᓴᑕᒥᒃ
ᓂᔅᐳᐦᑳᒥᒃ
ᑲᓇᐸᒥᒃ
ᐊᔨᒥᐊᒧᐎᒡ
ᒋᓂᔑᔮᒃ 
ᒥᔨᒋᑭᑭᒋᑳᐧᑕᐎᒡ

ᒨᔭᐊᒨᒥᐊᒧᐎᒡ
ᒥᔅᒫᒥᒋᑳᐧᑖᐎᒡ
ᒥᒪᔮᒋᑳᐧᑖᐎᒡ
ᒨᓴᐦᑳᑖᐧᑕᐎᒡ 
ᐊᐦᑲᔥᒪᑯᒥᒃ

ᐊᓂᐢᑕᒥᒧᐎᒡ

ᑲᔦᑯᒡᑭᐦᑕᐎᒡ

ᒥᓂᑎᔥᐦᐊᒪᔮᒋᑲᑳᒥᒃ ᒥᔪᔦᐤ ᐋᓂᐢᑕᒥᒋᑳᐧᑖᐎᒡ
ᒥᓂᑎᔥᐦᐊᒪᔮᒋᑳᑳᒥᒃ ᐋᐧᔮᐦᐊᐧᒋᔑᔮᒃ ᓂᑲᒧᐎᒡ

ᒥᐊᒨᔭᐃᔑᔮᒃ

ᐋᔭᒥᐊᒧᐎᒡ / ᒥᓂᒥᔅᑭᒥᐊᒧᐎᒡ 

ᓂᔥᑳᐧᑖᔮᒋᑳᐧᑕᐎᒡ ᒥᐊᒧᐎᒡ

ᒥᐊᒥᓇᒥᒥᔥᐦᐊᒪᒥᒃ ᐋᐧᔭᔮᐦᐊᐧᒋᐦᑳᐧᑖᐎᒡ 

ᒣᐢᑳᑎᑭᐦᑖᔮᒃ ᐊᔭᒨᐦᐊᒪᒥᒃ ᓂᔅᒃᓴᒥᒃ ᐅᑭᓯᐧᒡ ᐊᑲᔭᐧᔭᒋᐦᑳᐧᑖᐎᒡ

ᒥᔨᒧᐎᒡ
ᐊᔨᒥᓂᒥᔥᒧᐎᒡ ᐱᓯᐧᐊᐤ ᑳ ᐊᐧᔭᐦᑳᐧᐃᔭᒃ ᐃᔭᒨᓂᑯᒥᐣ ᑲᓇᔮᑲᔨᒥᔅᑭᑯᒥᐣ ᐋᐧᒋᑳᐧᑖᔨᔨᒥᔥᐧᒡ. 
ᐃᔮᓂ ᓂᐦᔅᒃᓴᒧᐎᒡ ᐊᔭᒨᐦᐊᒪᒥᒃ ᓂᔅᔪᑌᒥᐣ ᐅᑭᓯᐧᒡ ᐱᔥᓯᐤ ᐅᑭᓯᐧᒡ ᑳᓇᓇᑲᒥᐣ ᒥᑳᓂᑯᒥᐣ ᐱᔥᓯᐤ 
ᐊᐧᔭᐦᑳᐧᑖᔨᔨᒥᐣ. ᒣᐣᒫᒣᐃᒥᐣ ᓂᔅᒃᓴᒧᐎᒡ ᐃᔮᓂᒫᓂᑯᒥᔥᐧᒡ ᐊᐧᔭᑕᓂᔭᒃᐧᐊᐧᒋᔅᐊᒥᐦᑳᐧᑖᔨᔨᒥᐣ 
ᐃᔭᒨᓂᑯᒥᔥᐧᒡ ᐊᔭᒨᐦᐊᒪᒥᒃ ᓂᔅᔪᑌᒥᐣ ᐅᑭᓯᐧᒡ ᑲᓇᓇᑲᒥᐣ ᒥᑳᓂᑯᒥᐣ ᐱᔥᓯᐤ ᐊᐧᔭᐦᑳᐧᑖᔨᔨᒥᐣ. 
ᐊᒥᓂᔥᓴᐦᐊᒪᒥᐣ ᑭᑭᒥᒃ ᐋᐧᒋᑳᐧᑖᔨᔨᒥᐣ ᐊᐧᔭᔮᐦᐊᐧᒋᔅ

ᓂᑭᐧᐊᒣᒧᐎᒡ ᐊᔨᒥᐧᔨᐤ ᒥᑳᓂᒥᐣ ᒥᔪᑌᔮᒃ ᐃᔮᓂ ᑳ ᐊᒥᐦᑲᐧᑖᔨᒥᐣ. ᐊᔭᒨᓂᑯᒥᐣ ᐃᔮᓂᒫᓂᑯᒥᐣ 
ᐊᐧᔭᐦᐊᔭᐦᑲᒥᐣ ᑲᒥᑯᐧᐃᑖᐧᒡ ᐱᑭᒥᒃᐧᐊᐧᒡ ᓂᔥᒥᑳᐧᑖᔨᒥᐣ.

ᒥᔥᐱᔥᑯᒥᒃ: ᐊᔨᒨᐦᐊᒪᐣ ᑲᐃᔑᐧᑖᒥᐣ ᐯᑕᒥᒃᓴᐧᐊᑭᒥᐣ ᐊᐧᔭᐦᐊᔭᒥᐣ ᐅᑭᑳᐧᑖᒥᒡ ᐱᓂᐦᑭᔥᓂᒥᐦᑳᐧᑖᐎᒡ 
ᒥᐊᐧᐊᐤ ᒥᐊᒧᐧᐃᒡ ᑳᓇᓇᑲᒥᐣ ᒥᑳᓂᑯᒥᐣ ᐊᐧᔭᐦᑳᐧᑖᐎᒡ

ᐧᒥᒋᒣᐧᔨᒥᒡ ᐃᔮᓂᑲᒧᐎᒡ ᓂᔥᒥᑳᐧᑖᔨᒥᐣ ᒥᐊᒧᐎᒡ 



ᒥᐊᒥᓇᒥᒥᔥᐦᐊᒪᒥᒃ ᐋᐧᔭᔮᐦᐊᐧᒋᐦᑳᐧᑖᐎᒡ 

ᐊᓂᔥᒋᒧᐎᒡ
ᐊᔨᒥᐊᒥᔥᒧᐎᒡ
ᐊᔭᓂᒃ ᔑᔦᐊᓂᒃ ᐋᐧᑭᔑᔨᐤ

ᐊᔨᒥᒋᒣᐧᔨᒡ
ᒥᔪᑌᓂᔮᒃᐧᐊᐧᒋᔅᐊᒥᐦᑳᐧᑖᐎᒡ
ᐊᔨᒥᔨᐤ ᐋᐧᑭᓯᐧᐃᒡ ᐅᓂᒋᔭᑲᐧᑖᔮᒃᐧᐊᔭᐤ ᐊᑕᔅᓯᐧᒡ ᒋᔭᒣᐧᔨᒥᐦᑳᐧᑖᐎᒡ  

ᐊᒣᐢᑯᑕᐧᑖᒥᐦᑲᐧᑖᐎᒡ
ᐋᔨᒥᔨᐤ ᑳᓇᑲᐧᑖᔮᒡ ᑳᐃᔅᑲᐧᔅᑯᐤ ᐋᐧᑭᓯᐧᐃᒡ ᐊᔭᒨᒋᔅᐊᒥᐦᑳᐧᑖᐎᒡ
ᐊᔭᔨᒥᔨᐤ ᒥᑳᓂᒥᐣ ᑳᐅᑯᐧᑖᔭᐤ ᒥᔪᑌᔮᒃ ᐋᔭᒨᒥᐣ ᐋᐧᑭᓯᐧᐃᒡ
ᐋᔨᒥᐊᒥᔥᐧᐃᒡ ᒥᑳᓂᒥᐣ ᐅᑌᒋᓯᐧᒡ ᒋᔭᒣᐧᔨᒡ
 ᒥᔪᑌᓂᔮᒃᐧᐊᐧᒋᔅᐊᒥᐦᑳᐧᑖᐎᒡ
ᐊᔨᒥᐊᒧᐎᒡ

ᐊᔨᒥᐊᔨᒣᐧᑖᒥᐦᑳᐧᑖᐎᒡ
 
 
ᒣᔥᑕᐧᐊᔭᒡ ᒣᔥᑖᔨᒧᐎᒡ



DESIGN SKETCH PAGE

ᐊᔭᔭᔨᒥᐣ_____________________________ ᒥᔥᐊᔭᐦᑲᐧᐊᒥ ᐊᐯᑎᓂᔮᒡ______________



Name_____________________________         Date_______________________

BEADING LOOM

DESIGN

CRAFTSMANSHIP

CREATIVITY

4 points: 
The bracelet shows 
a clear design 
that includes at 
least one complete 
word or phrase in 
syllabics.

3 points: 
The bracelet shows 
a design that 
includes some 
syllabics, but it 
is not clear or 
complete.

2 points: 
The bracelet has a 
design, but it 
does not include 
syllabics or they 
are difficult to 
recognize.

1 point: 
The bracelet has 
no clear design or 
use of syllabics.

4 points: 
The bracelet is 
well-crafted, with 
even spacing 
between beads, a 
secure knot, and 
consistent tension 
throughout.

3 points: 
The bracelet shows 
some skill in 
craftsmanship, but 
may have uneven 
spacing or tension 
or a less secure 
knot.

2 points: 
The bracelet is 
somewhat poorly 
crafted, with 
noticeable incon-
sistencies in 
spacing or ten-
sion, or a knot 
that is not very 
secure.

1 point:
The bracelet is 
poorly crafted, 
with significant 
unevenness in 
spacing or ten-
sion, or a knot 
that is likely to 
come undone.
 

4 points: 
The bracelet shows 
a high degree of 
creativity in its 
design and use of 
color and materi-
als.

3 points: 
The bracelet shows 
some creativity in 
its design or use 
of materials, but 
could be more 
original.

2 points: 
The bracelet is 
somewhat unorigi-
nal, with a design 
that is similar to 
others or a limit-
ed use of materi-
als or colors.

1 point: 
The bracelet is 
unoriginal and 
shows little cre-
ativity in its 
design or use of 
materials or 
colors.

TOTAL  /12



DEFINE
the problem

IMPROVE
and iterate on
your design

IMAGINE
potential solutions
in the real world

ASK
why is this a

problem?

TEST
your prototype

PLAN
your idea

Prototype
your design

ᐊᔭᔭᔨᒥᐣ_____________________________ ᒥᔥᐊᔭᐦᑲᐧᐊᒥ ᐊᐯᑎᓂᔮᒡ______________



ᐊᔭᔭᔨᒥᐣ_____________________________ ᒥᔥᐊᔭᐦᑲᐧᐊᒥ ᐊᐯᑎᓂᔮᒡ______________
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ᐊᔭᔭᔨᒥᐣ_____________________________ ᒥᔥᐊᔭᐦᑲᐧᐊᒥ ᐊᐯᑎᓂᔮᒡ______________


